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2016-2017 Geometry Final Exam Review

1. Find x. Round to the nearest hundredth.

i o
E F : CQE
10
4 A3x = 280
i 23 =5—C
- 28 i
2. Find x.
E - | b
A 409 —4 = :
s _ 19 e o /p i X“g
i =, o x+) =12(x-3)
xt+l =12x -3
H2 = lox

Given ASTU ~ APQR find x.

128° 5 S 4.5
l--— T
8

& sum: I23+5x+22=|§p

Ax +|45 =180

| | . 5% =35
4. Given Quadrilateral HIJG ~ Quadrilateral MNOL, find x and y.

H K M N

HOUR:



8. AABC ~ APBQ. Find ZPBQ and BQ. Round to the nearest tenth.

\ 20 /pBQ = _32°
58° p " " Bo = 12.9 unts
! HLdD Ur
CNE/IE 100 = 8%
2 180 -58 -90 X = 12.5

6. Triangle EFG is a right triangle with right angle G. Triangle MFN is similar to
Triangle EFG. M is on EF and N is on FG. MN is parallel to EG. EG =9in, GN =8
in, NF = 10 in. Draw and label a diagram to model the description of tr1angles EFG
and MFEN. Find the measure of MN.

1 & & QO=18"X MN = 5 .
9 1€ O 5= x
G 8 ~N 10 F
7. If AABC ~ADEF, find the pertmeter of AABCL' What is the ratio of AABC to ADEF?
X = -l q
_ “} = Perimeter AABC = 12 _units
4x . y a'-lx-to-:lo
2dx = 9 Roko: 3:2
Foox=yq 4228
BC=4() -1 =15

8. Timmy is flying a kite. The length of the strlng is 37 feet. The kite gets caught on the
top of a tree that is perpendicular to the ground. Timmy is 10 feet from the tree’s base.
How tall is the tree? Round to the nearest tenth.

% xZ+ [0 =37%

" 3% X % +100 = |39

(L\ \\\\ m =m
okt X= 35.( Ft

9. Give an example of three measures that could represent the sides of a right triangle.
Prove or explain why these measures work. Uge ConNerse of Hne W'\'\\Cﬂ Thm.

Mul ple  answers

Exomple: 3, H,5 because hey follow dhe
Pudnogorean Thm uohlc_h only works

130\?" ﬂ?’c As. 32.4*1l5? :

A5 =25 v



10. Triangle ABC has side lengths AB =21, BC =21 and CA = 42. Is AABC a right

triangle? o‘(\')_ *&‘ _. .-,L ?gz¢,—’bq 80 I+I$
o)+ 4 ud  not avigt &

11. Trina says 40, 9 and 42 can be the sides of a right triangle. Joey says 40, 9 and 41
can be the sides of a right triangle. Who is correct and how do you know?

Trwno: 4oz+9% =422 doeé bt qz 24t Joey 1s Covrect

& bje s Abilows the
&l # 1My lo®l = |18 et o T,

43

12. Is the quadrilateral in the diagram a rectangle?
Explain how you know. : 20 52 20

Eﬁxe.\?s need 90° Comers,

7
20t +4g* =522 ‘
q@i Yg zz . Yes v s a rectandle
+2304 = 10 g\nece opp- Sides Qe &2 w
Q7104 7 2704 i+ has 4 right angles

13. Find the area of the figure below. Round to the nearest tenth.

/5_" 51"‘XZ 8: A - ’7'5([03((9-7—\
8

48

g x-co.z

Find the exact altitude of an equilateral triangle whose sides are 20 cm long.

/ | oltitude = 1013 cro
jol3
wo ¥

A3

24

<

15, If the altitude is 6v/3, what is the perimeter of the equilateral triangle?

?er'm{dce;r = |2+12+12

/ S P=3b units

(o o




16. Find x and y.

17. Find x and y. &
K 1)

X

3 1273

N i

18. Consider the triangle ABC, shown below. Use the Pythagorean Theorem to find the
exact value of the missing side. Then find all trig ratios below and simplify all
answers.

B 20%+2\* =x 2
CQP\X Q) = sz
20
A X= CQC)
21 ¢
20 2 20
sin ZA=__ 29 cos ZA=__29 tan £ A = 21\
. Z 20 AN
sin ~/ B = 29 cos /B = 29 tan £ B = 20
19. In the figure, tanx=-f—2. Find cos x and sin x.
. : 1
(DP\o.ce5 12 @c;;\i “\33- . cosx= 13
. 0 *o* =k
AR R lo9 =x2 inx= 5
) =X

5 13 =%

20. Find the measure of the missing angle. Round to the nearest degree.

a. b. G FaX
. A Vs \fm
? 4 ~ l\x\'\
T N
29
28 A a3l

3 - _'2_'1_ T (X
e | 7 Sin O-= o .

O-st (2 6=tan”

|




21. Solve to find each missing side. Round to the nearest tenth.

10 -
& - s b. _ = b lo | & .
x K2l 2| 11 u 25°
" ra
Cos 52 =% Sin 25 =43
=X bon 315 -

1 20 sin 25 =X
X C0S52 =|0 ———
22.  An engineer in a lighthouse is looking down at a beacon on a ship’s bow. He

measures the angle of depression as 25°. The viewing platform in the lighthouse is
30 m above sea level. How far away is the ship from the shore?

-tano?5=é'9" = X tan235:=30

X -
\ X= (4.3 m
23. Triangle XYZ is a right triangle with right angle Y. XZ = 15 and ZY = 9. Find cos X.
X ® Hind orssing sde
'S5 9Z 4y * =152
]2« x2. » ',_} q_’
& X=12Z

19 2 "
@CDS)Lz s



24. Bob is looking in a mirror to see the top of a flagpole. He is standing 10 feet from the
mirror. His eyes are 66 inches above the ground. He uses the following calculations
to find the height of the flagpole. Find, describe, and correct his error.

66in 288 in

120 in W
The proportion is not set
Wp Qorree’c\a-

66 in
=t Ll h
G 10ft M 24 ft. F e wou\d e o 5
]20un. 28%un. |20 2 Coneck w“j Yo g
s wp.

25.  BSierra doesn’t know why she is not calculating the correct answer for her work. Find,
describe, and correct her error.

Find the length of the ramp to the nearest foot.

(Not drawn 1o scale)

tan 15°= 272 Sierva needg Ao

[Pomtrersicrnnal
T
use swne instead of NL\‘P\ ,

The ramp is 7.5 ft long. .tange,n‘f S\nce. we

sinis = ‘2;— hove. e D??OS\“\C, -
X :7-7“:{3 ‘t’\\ﬁ?O\eX\\)&ﬂ

26. Jared read this problem in his textbook: “A six foot tall man casts a 7 foot shadow. A
nearby tree casts a 27 foot shadow. Find- the height of the tree.” There was no
picture with the problem in the book. Jared tried to solve this problem, but made a
mistake. Find, describe, and correct his error.

e Jared's pletore
6ftﬁ\\\\‘\ S \nCorrect.

= The A's

2t i Sheuld not

. oN er op.
A -92-1 = '—J‘"
‘ai N\ X o
27 7 Tx =12

X=23.1F%



27. Given: EB is a diameter of circle G. True or False?

If false, correct the statement to make it true.
- ZBGC =72° False <BGC = 3
AE // CD False RE =CD

/GED = £ GDC TTrue

/DGC = 54° False <DGC=12°
ED = AG False EG= AG "
AE=CD Tue

o a0 o

28. Find the length of the segment indicated. Round your answer to the nearest tenth if
necessary. -

r,‘lf-*“—--x_‘_‘ | ;
| 3_‘ 9.4 \’ﬂ_d\US'- X (j

s = 44T
tj”-r 13.L" = |4.42 =
#j 31322h"\ | '
\j = 4.7 |

29, In circle R,CR = RF,and ED = 30 and the radius is 17. Find of RF.

A
S R
o \‘\‘ \\\
/
/ C." TN v " i
J{ ,“/ l"‘B |
| in p
e ,’b
. ‘,-'
E :“J . F , - :

30. Find the perimeter of the polygon. Assume lines which appear to be are tangent.

P= 4% L wnits I




31. The points of a square are (0, 0), (-8, 0), (-8, 8) and (0, 8). Graph the square and
write the equation of a circle that would be inscribed in the square.

11 Center ot (-+4,4) =4

(h, K
(X -n)* +(§j-\431=f2
| 8x (X""th—‘l'(ﬂ_ ‘ﬂ"'-”-fz

\ (x-*-'—l)l«-(:j—*f)% ILJ

h K
32. A circle is tangent to the triangle at (3, 4). The center of the circle is at (7, 7). Write

the equation of the circle.
Lo Bk - 2
4§ - + LH ‘L:‘ -

SN SO A Y. [ S8 1S S NS TS
i

(x-N*+ (\; -1)*= 35

33. What is the area of the circle? Round your answer to the nearest tenth.
5 cm—py i 2
d =13 o R =T

A
\ r=7.9cmn . A -w(7.5)*
' A=H4H2.25T

A=132.7em™

a5-ct (x-T)rely A a5t



o

2\
34. Find the exact area of the circle if arc length AB is 10x. \O

. 2
Poc mpy JOT =R g A=
o ™ S0 # Pélﬂ{j ’ A=T\0*
1O = T —
‘ =\00T u
=0 -H \D,.,-t.w,-___J

35. If the radius of a circle is 13 m and a central angle is 45°, find the length of the arc
defined by the intersection of the central angle and the circle. Write your answer in

terms of pi.
or}yzﬂ: -—'—:3,-' Trm-}

02”=-;’—%.2w03) = 3.25Tm .

36. If the ratio of the circumference of two circles is 4:7, what is the ratio of their radii?
37. The length of arc AC is equal to one-third of the circumference of circle O, and the

arc length is 4n meters, find the radius, m~/AOC and the area of the sector defined by
ZAOC and arc AC to the nearest tenth,

" 3'L‘}TT=)2TT=C radius=M_
C=2we <AOC = “.;I';%D m ZAOC =“L2—L |
|21 = 2wy -’-RD(‘_-'-\?_D' sector area = 9 /. Z m)‘

b =r Sector: 120 (,% |

= | 21T |
30
38. The m £XZY = 28°. What is the measure of ZXPY?
If XZ = YZ, what is the measure of XZ?
X
o
5“’ m xpy = OW
: Y
Z —

mXZ



Given the coordinates of the vertices, find the area of the figure.
39. (_1: 1) (1: 7) (3: 1] (1:- _5) 40. (_2: 2) (21 4) (2: _6) (—2: ""2)

A =2 (4) (4 +10) .
| = 1(a) (M) =|2Bu

®a

y

|

=\

! &

41.  Find the area of the shaded region.

i : Q2 4y 2|2 Q = 2 As

x=15 Pc-z(é‘l5‘3)
3
A=120u I
42.  Find the area of the circle in terms of pi and the area of the shaded region to the nearest

tenth.

area of the circle: 13.25 Nit sz

area of the shaded region: of Ao em?*

A=3.5%
= |d.A5TT
C il C ™ pfs = O - A
30 30\ 2 = 12.45T™ — 3-2°3.5-3.85sinl20
o 3 =12.26m - 15.9
Cos 30z <& = 230
= 3.9



43. The area of the circle is 1156n. Find the area of the shaded region. Round to the nearest

tenth.
A= ,  area of the shaded region: 028. 3 u*
113 b =T A = O - \ﬂe_xaﬂon
WSk =r* A =m34%- (o-2°3134sinb0
0~ 224 r=34 A =303).7 - 30034
A= 028.3
44. Find the SA of the square pyramid.
122 +4% =4SP = square +4 4s
| \ 4 ‘;’:;‘f: = -8 +"/(ﬁ'8°|2.to)
v o = b4 + 2000
= 205.(p m”* om

45. Jill wants to have her ottoman, shown below, reupholstered. Find the surface area
that will be reupholstered. Do not count the area of the bottom.

‘,,‘ 251t "'“_‘3““ - 2—( 2.5 .1.5) ey
el |t 2(3-1.5) = 9 |
ol ks + lls ) 3 --: 7.5 | |

| S = a4 fe* |

46. Solve for the variable given the surface area S of the right prism. Round to the
nearest tenth.

Yoot g(7-4) Y 2(312:9) * 5y
2‘( L}X'\) 4+ IZU + 133'-970
1 +2.(7)<\ el |
= L0+ 304y =%710
Vi B, + B+ 14X =298 (o2 + 244

- 303 = §10
Ax +5b =298
ddx =841 | ﬂ:"ﬂ"ﬂ
| x =11 £t




47. A fuel tanker is in the shape of a right cylinder. The full load of the fuel inside will be
delivered to two locations; station A will receive one—third of the fuel and station B
will receive two—thirds of the fuel. How many gallons of fuel will be delivered to
station B? 1 ft3 = 7.5 gallons. Round to the nearest gallon.

V= BH (1510.8)(1-5) :
\ =Wz B [11781 qot -
\ = w5230 R
V=2350.2 7 (3) = 1570.8 43

48. Water weighs approximately 62 1bs per cubic foot. The industrial hot
water tank has a diameter of 5 feet and a.height of 13 feet. When the

tank is full, what is the weight of the water inside the tank? Round to :
the nearest pound.

30 feet

2

a1\ LA u
1 ;'
po oo ‘ n
. LYV e \ | . | J E |
\/ N = & - | Ny = -
\/ = J b~ o E o et
|  hmad? g N

X

49.  Find the volume of the composite solid. Round your answer to the nearest tenth.

V = 3 ojinder + prasm TN
Vs ’}Z(T\TZH'\ + .B.H | : / '. = - 4in,
V=g 1325+ (b-4)(15) e ‘

1]

» 15 in.
V- 2121 + Sl 6 in. d
IV = 572.1 in®
90.

College engineering students designed an enlarged external fuel tank of a space
shuttle as part of an assignment. The professor liked the design so much, that she

decided to have the fuel tank constructed and used. How many cubic meters can the
fuel tank hold to the nearest tenth?

cone + cuhnder + 4 sphere
s g+ ey v 3 (el
F 15515 + wOHHS + 1(405°)

4188.8m>

i

=15 m—+|f+——45m




51. The volume of a cone is 4601 cm?2. The cone has a diameter of 20 cm. Find the slant
height of the cone.

V = -Is—n-r?-H ] . 102 +’3.8z=£ 2
HoOT=3wI0*H - 29044 = f?
HUPSW;?E.SWH 10 ‘17 )

52. Compare the volume and tell which is greater: A rectangular prism that is 2 inches
wide, 6 inches long and 1 inch deep or a square pyramid with a base that is 2 inches

per side and is 6 inches high.
rectonglar pAsSM square Py camid ne Wd&n@:)\ar
B '

. . (22D (W) priem hos
V‘-(i’-"lol(l\) \\[[= %( x Lo;xe,r Vao\sum&.
V=12 n H 1s “in Lanjeh

53. How many 1 x 1.5 x 2 inch ice “cubes” would be needed to melt into a cylindrical
shaped ice bucket and fill it to the top without overflowing? The ice bucket has a
diameter of 6 inches and a height of 10 inches. Cubes are whole ice cubes.

— V=13%10 \Ce Ccubes:
Cg@@ V= 2%2.Tw? 2%2.1 = . (1+1.5-2)
of \ce 28214 :%
130 pucket —-———"3
X =94 .23

You can have 94 10e cubes.
54. A cube has side length 10cm. What is the radius of a sphere with same volume?
V= Br |00 = -g— 2

V= (101019 375

” 3
Veo0em \© =6.2 c«v}
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0.

S57.

98.

29,

Identify an angle in Quadrant IV with a reference angle of 30°. Tell the measure of

the angle in both degrees and radians.
D° nir
3307 or &

Identify an angle in Quadrant III with a reference angle of 45° Tell the measure of the
angle in both degrees and radians.

225° or %?

%’T is an angle whose sine and cosine are opposites. Tell the measure of the other

angle whose sine and cosine are opposites in both degrees and radians.

315° or --ZL;I

If 6 is in QuadrantI and sin 6 = %, what other angle in a different quadrant will have
the same sine?
tao"

“Fe

a. If ZA is in Quadrant I and sin A = %, identify /B in Quadrant I that has an
equivalent cosine in degrees.

———

\
' <@ = 30° osBH=7 =t
, |4A=30| eosBTE R0
3 | 18

b. If ZA-in Quadrant IIl and sin A = — \/2-—5, identify B in Quadrant III that has an
equivalent cosine in degrees. -3

} 0'=z L0 cos B = <5 B'=3b
‘ ———

[ —

R VS

-E)\Z‘ \Ah :&{Bﬂ 13 B=2(0°

c. What is the relationship of ZA and /B when sin A = cos B?

The eference angles are
Cornplemen mg\ |



60. Graph the point (1, —1) in standard position so its terminal side is 6. Then find the
reference angle, 6’, and all exact trig ratio values.

124(-0%= x* 4400 = :il' z -]

2 =¥

g ols
3w & =

T
z_l

sin &’ = 2

&

s w42
cos B G

Z

2. cos 0’ =

tan 8’ =

©61. Identify the point(s) on the unit circle where tangent is undefined.

—-(IS" - undefined @ 90°

p- H5°

5]
iz

2

-\
o =Wndefingd @ 270°

62. Tell whether sine, cosine, and tangent is positive or negative in each quadrant.

(o,1)
cos is NeqonNe =
sin 1s I

tan is Mﬂ—ﬂﬁl\fe
(-1,0)

cos is PDﬁﬁNe

sin is - e

tan is DS e
]

cos 18 \e.
sin is e LI
tan is r}

(0,-1)

Give the exact measurements for the following.

63. cos-—-45° 64. tan 210°
Q -
i = y'
AZ =k |
\ Z
o
al
Az +an 210 = 1
Cos -16=_2 2
| - "._|. - . L
R T

— (0,0)

.

I3y cos is po sthive.

sin is Ve
tan is Ve

65. cos 510° = cosISD

Ji_ 30
2
2
cos 510 =
2
3 (oS B10 =




